A BILL FOR AN ORDINANCE LEVYING AGAINST THE PROPERTY SPECIALLY BENEFITTED THEREY, ASSESS MENTS FOR THE COST OF THE STREET IMPROVEMENTS ON MILTON STREET FROM WILLIAMS STREET TO EAST END OF MILTON and DELCARING AN EMERGENCY.

ORDINANCE BILL NO. 6
for 1957
ORDINANCE NO. 973

WHEREAS, the owners of more than fifty (50) per cent of the property abutting upon the street hereinafter described have filed with the City Recorder of the City of Lebanon, Oregon, their Petition asking for street improvement on Milton Street from Williams Street to East end of Milton, and,

WHEREAS, the Common Council of the City of Lebanon ordered the City Engineer of the City to prepare and file plans, specifications and estimates of the cost of improvement of said street, and

WHEREAS, the City Engineer by order of said Council, thereafter prepared and filed plans, specifications and estimates of the cost thereof, which were approved and accepted by Resolution No. 11 for 1956, passed by the Council and approved by the Mayor on the 3rd day of April, 1956, and

WHEREAS, the Common Council thereafter gave notice of intention to improve said street in the manner provided by the Charter of said City, the proof of posting of such notice being now on file herein; and the time for remonstrance did elapse thereafter without any remonstrance having been made against the said street improvement by the owners of a majority of the property adjacent thereto; and it then appearing unto the said Council that said street improvement should be made, the Council did, by Ordinance No. 943, passed by the Council and approved by the Mayor on the 5th day of June, 1956, duly establish and declare its jurisdiction to make said street improvement and ordered that the work be done by contract to be awarded to the lowest responsible bidder, and there be published for (10) days in a newspaper published in Lebanon, Oregon, a notice inviting proposals for improvement of said street, and

WHEREAS, pursuant to said order the City Recorder caused to be published in the Lebanon Express "Notice Inviting Proposals for the Making of said Street Improvement," in the manner required by the

Ordinance and Charter of the City of Lebanon, proof of the publication of said notice now being on file herein, and

WHEREAS, upon the expiration of the time required by the Charter for the submission of bids, the bids received by the City Recorder for the making of said street improvement were opened and submitted to the Council, and Joe D. Morse, Forrest E. Morse and William F. Morse, dba Lebanon Sand & Gravel, a responsible bidder having submitted the lowest bid, wasawarded the contract for making said street improvement, and

WHEREAS, the work and improvement has been completed and approved, having been done in accordance with the Charter and Ordinance of the said City of Lebanon, and the costs of said work and improvements has been determined.

NOW, THEREFORE, THE PEOPLE OF THE CITY OF LEBANON DO ORDAIN AS FOLLOWS:

Section I. That the costs of improving said street to be borne by the property abutting upon and adjacent to the above described proposed street is \$ 13.275.65

Section II. That the proportionate share of said cost of said work and improvement to be borne by the real property especially benefitted thereby and to be assessed therefor is hereby declared to be the amount set immediately after the separate description of each lot or tract of land hereinafter stated, and each of said lots or tracts of land is determined and declared to be benefitted by said improvement in the sum equal to or greater than the amount assessed thereto hereinafter; and each of said lots or tracts of land should be, and the same hereby is, assessed for its proportionate share of the cost of said improvement in the sum set opposite the description thereof, to-wit:

#### IMPROVEMENT PROJECT NO. 10 1956

WILTON STREET
William's Street to East End

Width Between Curbs, 28.10 feet
" 28.28 "
Width of Pavement, 24.10 feet
" " 24.28 "
Combined Curb & Cutter
Gutter Strip Only

### ASSESSMENT TO PROPERTY OWNERS

Paving 4983.80 Sq.Yds. \$ 7400.98 Curb & Gutter 3460.34 Lin.Ft. \$ 5709.58 Gutter Strip Only 157.98 " \$ 165.09 Total \$ 13275.65

mail hand appeareth notice 347 79. 3. 1 pt St. - Palada Prep. 643 millen

ANDERSON, Frederick A. (172-749) Milton Street Improvement, William's Street to East End.

Beginning 578 feet North and 640,75 feet East of the Southwest corner of the D.L.C. No. 47, Tp. 12 S., R. 2 W.; thence N.0° 03'W. 207 feet; thence East 60 feet; thence South 207 feet; thence West 60 feet to the place of beginning, containing 0.285 of an acre more or less.

Paving 60.00' frontage 80.37 Sq.Yds.@ \$1.485 \$ 119.35 Combined Curb & Gutter 60.00 Lin.Ft.@ \$1.65 99.00 Total Paid Balance

BOWMAN, Claude E. & Rose G. (214-748) Milton Street Improvement, William's Street to East End.

Lot 1, in Block 1, in Mitsch Addition to the City of Lebanon.

CHILDS, K.D. & Oral, (191-59) Milton Street Improvement, William's Street to East End.

The East 70 feet of the West 85 feet of the North 120.4 feet of Lot 6, Home Addition.

Paving 70.00' frontage 94.46 Sq.Yds.@ \$1.485 \$ 140.27 Combined Curb & Gutter 70.00 Lin.Ft.@ \$1.65 115.50 Paid Balance

COLLINS, Paul D. & Vera Mae (181-471) Milton Street Improvement,
William's Street to East End.

Beginning East 986.29 feet and South 847.39 feet from the Southwest corner of Lot 18 of Riverside Addition to the City of Lebanon; thence North 414.86 feet; thence East 105.0 feet; thence South 414.86 feet; thence West 105.0 feet to the place of beginning.

Paving 105.00' frontage 140.65 Sq.Yds. @ \$1.485 \$ 208.87 Combined Curb & Gutter 105.00 Lin.Ft. @ \$1.65 173.25 Total Paid Balance

DOWNING, Harry E. & Evelyn N. (166-97) (Plat Bk.) Milton Street Improvement, William's Street to East End.

Lots 1 & 8, Block 1; Lots 1 & 8, Block 2; Lot 1, Block 3; all in Downing Addition to the City of Lebanon, Linn County, Oregon.

Paving 531.72 frontage 712.27 Sq.Yds. @ \$1.485 \$ 1057.72 Combined Curb & Gutter 537.95 Lin.Ft. @ \$1.65 887.62 Fotal Paid Balance

625 Harden Drive

EDWARDS, Vernon Douglas & Deloris J. (242-741) Milton Street Improvement, William's Street to East End.

The South 100 feet of Lot 8, in Block 1, Walnut Park Addition to the City of Lebanon:

Paving 66.00 frontage 88.41 Sq.Yds. @ \$1.485 \$ 131.29 CombinedCurb & Gutter 66.00 Lin.Ft. @ \$1.65 108.90 Paid Balance

Balance
1940 Killiam's
FIRCHAU, Albert J. (229-309) Milton Street Improvement, William's
Street to East End.

Beginning at the Southwest corner of Lot 13, Home Addition to the City of Lebanon, Oregon; thence North on the West line of said lot, 253.59 feet; thence West 140.15 feet to the East line of the Oregon Electric Railway's Right-of-way; thence South 253.51 feet to the North line of Milton Street; thence East on said North line 140.15 feet to the place of beginning.

Paving 140.15' frontage 189.12 Sq.Yds. @ \$1.485 \$ 280.84 Combined Curb & Gutter 140.15 Lin.Ft. @ \$1.65 231.25 Total Paid Balance

GAZELEY, Thomas H. & Katherine (227-647) Milton Street Improvement, William's Street to East End.

Lot 5, except North 13 feet of East 120 feet, except East 30 feet of South 70 feet, Home Addition to the City of Lebanon.

GRAVELLE, Edward J. & Lillie C. (166-337) Milton Street Improvement, William's Street to East End.

The West 27.75 feet of the North 120 feet, Lot 9; and the East 22.25 feet of the North 120 feet of Lot 14, Home Addition to the City of Lebanon.

Paving 50.00' frontage 67.47 Sq.Yds. @ \$1.485 \$ 100.19 Combined Curb & Gutter 50.00 Lin.Ft. @ \$1.65 82.50 Paid Balance

HALADA, J.A. & Josie (155-295,6) Milton Street Improvement, William's Street to East End.

Beginning on the North line of Milton Street 474.69 East and 847.39 feet South from the Southwest corner of Lot 18, Riverside Addition to the City of Lebanon, Oregon; thence North 414.86 feet; thence East 136.48 feet; thence South 414.86 feet; thence West 136.6 feet to the place of beginning.

Paving 136.60 frontage 182.98 Sq.Yds. @ \$1.485 \$ 271.73 Combined Curb & Gutter 136.60 Lin.Ft. @ \$1.65 225.39 Total Paid Balance

Quesnel, British Columbia, Canada

HARALSON, R.M. & Doris (169-747) Milton Street Improvement, William's Street to East End.

Beginning on the North line of Milton Street, said point being East 986.29 feet and South 847.39 feet from the Southwest corner of Lot 18, Riverside Addition to the City of Lebanon; thence North 414.18 feet; thence West 105.0 feet; thence South 414.86 feet; thence East 105.0 feet. EX: that portion (223-543) sold to Harry & Cora Howe.

Paving 50.00 frontage 66.98 Sq.Yds. \$1.485 \$ 99.47 Combined Curb & Gutter 50.00 Lin.Ft. \$1.65 82.50 Total Paid Balance

HAWK, Jerry D. & Eleanor B. (231-725) Milton Street Improvement, William's Street to East End.

Beginning at a point on the North line of Lot 14, in Home Addition, 34.70 feet East of the Northwest Corner; thence South 120 feet; thence East 50 feet; thence North 120 feet; to North line of Lot; thence West 50 feet to place of beginning.

Paving 50.00' frontage 67.47 Sq.Yds. @ \$1.485 \$ 100.19 Combined Curb & Gutter 50.00 Lin.Ft. @ \$1.65 82.50 Fotal Paid Balance

Balance
745 milton Street Improvement, William's St.
to East End.

Beginning East 776.29 feet and South 847.39 feet from the Southwest corner of Lot 18, Riverside Addition to the City of Lebanon; thence North 414.86 feet; thence East 105.0 feet; thence South 414.86 feet; thence West 105.0 feet to the place of beginning.

Paving 105.00' frontage 140.65 Sq.Yds. @ \$1.485 \$ 208.87 Combined Curb & Gutter 105.00 Lin.Ft. @ \$1.65 173.25 Total Paid

(HOWE, Harry & Cora) (223-543) Milton Street Improvement, William's Street to East End.

Beginning East 986.29 feet and South 847.39 feet from the Southwest corner of Lot 18, Riverside Addition to the City of Lebanon; thence North 185.0 feet; thence West 55.0 feet; thence South 185.0 feet; thence East 55.0 feet to the place of beginning.

Paving 55.00' frontage 73.68 Sq.Yds. @ \$1.485 \$ 109.41 Combined Curb & Gutter 55.00 Lin.Ft. @ \$1.65 90.75 Total Paid Balance

JACOBS, John M. & Loella F. (197-544) Milton Street Improvement,
William's Street to East End.

East 1301.29 & South 847.39'

Beginning from the Southwest

Beginning from the Southwest corner of Lot 18, Riverside Addition to the City of Lebanon; thence North 414.86 feet; thence West 52.50 feet; thence South 414.86 feet; thence East 52.50 feet to the place of beginning.

Paving 52.50' frontage 70.33 Sq.Yds. \$1.485 \$ 104.44
Combined Curb & Gutter 52.50 Lin.Ft. \$1.65 86.63
Total Paid Palance

graperty as

JOHNSON, George L. & May S. (245-662) Milton Street Improvement, William's Street to East End.

Beginning 1196.29 feet East and 847.39 feet South of the Bouthwest corner of Lot 18 of Riverside Addition to the City of Lebanon; thence North 414.86 feet; thence West 105 feet; thence South 414.86 feet; thence East 105 feet to the place of beginning.

Paving 105.00' frontage 140.65 Sq.Yds. @ \$1.485 \$ 208.87 Combined Curb & Gutter 105.00 Lin.Ft. @ \$1.65 173.25 382.12 V Total Paid Balance

541 Harden Drive KLAVANO, Alvin B. & Helen F. (181-665) Milton Street Improvement, William's Street to East End.

The South 100 feet of Lot 3, Block 1, Walnut Park Addition to the City of Lebanon.

Paving 66.00' frontage 88.41 Sq.Yds. @ \$1.485 \$ 131.29 Combined Curb & Gutter 66.00 Lin.Ft. @ \$1.65 108.90 \$ 240.19 Total Paid Balance

MIGHT, Herman W. & Margaret A. (202-295) Milton Street Improvement, William's Street to East End.

The West 61 feet of the Hast 81 feet of the North 84.0 feet of Lot 9, Home Addition to the City of Lebanon.

Paving 61.00 frontage 82.31 Sq.Yds. @ \$1.485 Combined Curb & Gutter 61.00 Lin.Ft. @ \$1.65 100.65 222.88 Total Paid Balance 611 Harden Dr.

LEE, Dudley, Richard & Donna (236-339) Milton Street Improvement, William's Street to East End.

The South 100 feet of Lot 7, in Block 1, Walnut Park Addition to the City of Lebanon.

Paving 60.00' frontage 80.37 Sq.Yds. @ \$1.485 Combined Curb & Gutter 60.00 Lin.Ft. @ \$1.65 \$ 119.35 99.00 Total Paid Balance

MAY, Carl R. & Jerry (228-32) Milton Street Improvement, William's Street to East End.

The South 40 feet of Lot 1, Block 1, Walnut Park Addition to the City of Lebanon.

120.00' frontage 160.75 Sq.Yds. @ \$1.485 \$ 238.71 Combined Curb & Gutter 120.00 Lin.Ft. @ 1.65 198.00 Total 436.71 Paid Balance

645 Harden Dr.

MCKINNEY, Robert G. & Verna J. (194-495) Milton Street Improvement, William's Street to East End.

The South 100 feet of Lot 9, and the South 100 feet of the West 16 feet of Lot 10, in Block 1, Walnut Park Addition to the City of Lebanon.

MORRIS, Bertha F. (167-591) Milton Street Improvement, Willaim's Street to East End.

Lot 13, Home Addition to the City of Lebanon.

MYLER, Ralph H. & Mildred R. (183-621) Milton Street Improvement, William's Street to East End.

Lot 28, Block 1, Mitsch Addition to the City of Lebanon. Also: vacated portion of street adjoining on the East.

Paving 157.00 frontage 210.31 Sq.Yds. \$ 1.485 \$ 312.31 Combined Curb & Gutter 57.00 Lin.Ft. \$ 406.36 Paid Balance

MAZARENE CHURCH (187-225) (182-673) Milton Street Improvement, William's Street to East End.

The South 68.5 feet of the West 90 feet of the West 108.75 feet of Lot 10; the East 40 feet of the West 90 feet of the South 88.5 feet of Lot 10, Home Addition to the City of Lebanon.

OLSON, E.T. & Edith I. (222-756) Milton Street Improvement, William's Street to East End.

Beginning East 776.05 feet and South 848.30 feet from the Southwest corner of Lot 18 of Riverside Addition to the City of Lebanon; thence North 414.86 feet; thence West 105.0 feet; thence South 414.86 feet; thence East 105.0 feet to the place of beginning.

Paving 105.00 frontage 140.65 Sq.Yds. © \$1.485 \$ 208.87 Combined Curb & Gutter 105.00 Lin.Ft. © \$1.65 Total Paid Balance

PETERS, William H. & Margaret L. (230-272) Milton Street Improvement, Williams Street to East End.

The North 60.17 feet of the East 100 feet of Lot 6, Home Addition to the City of Lebanon.

Paving Gutter Strip only

100.00 frontage 134.94 Sq.Yds. @ \$1.485 Strip only 100.00 Lin.Ft. @ \$1.045 Total

\$ 200.39 304.89

Paid Balance

573 Harden Dreve PETERSON, Carl A. (180-243) CREGORY, Al & Wilma A. (232-114) Milton Street Improvement, William's Street to East End.

The South 100 feet of Lot 2, in Block 1, Walnut Park Addition to the city of Lebanon.

Paving 60.00 frontage 80.37 Sq.Yds. @ \$1.485 Combined Curb & Cutter 60.00 Lin. Tt. @ \$1.65

2 119.35

218.35

Total Paid

Balance

ROBERTSON, Sarah (208-774) Milton Street Improvement, William's Street to East End.

The East 30 feet of the South 70 feet of Lot 5, Home Addition to the City of Lebanon.

Paving 30.00' frontage 40.48 Sq.Yds. 5 1.485 Combined Curb & Gutter 30.00 Lin.Ft. 5 1.65

\$ 60.11 49.50 \$ 109.61

Total Paid Balance

SEEMS, Milo & Ruby (221-153) Milton Street Improvement, William's Street to Mast End.

Beginning East 1301.29 feet and Louth 847.39 feet from the Southwest corner of Lot 18, Riverside Addition to the City of Lebanon; thence North 414.86 feet; thence East 16.37 feet; thence South 437.21 feet; thence West 153.9 feet to the place of beginning beginning.

Paving 81.64 frontage 109.36 Sq.Yds. @ \$1.485 Combined Curb & Gutter 81.64 Lin.Pt. @ \$1.65 Combined Curb & Gutter

Smith, Elsie N.

\$ 162.40 134.71

Total Paid

Balance

oMITH, Merrill V. & Elsie N. (246-581) (244-433) Milton Street Improvement, William's Street to East End.

The South 100 feet of Lot 6, Block I, Walnut Park Addition to the City of Lebanon.

Paving 66.00 frontage 88.41 Sq.Yds. @ \$1.485 Combined Curb & Gutter 66.00 Lin.Ft. @ \$1.65

\$ 131.29 108.90

240 19

Total Paid

Balance

SNYDER, Donald E. & Alma (206-295) Milton Street Improvement, William's Street to East End.

Lot 1, in Block 4, in Replat of Walnut Park Addition to the City of Lebanon.

Paving 120.45 frontage 161.35 Sq.Yds. @ \$1.485 \$ 239.60 Combined Curb & Gutter 120.45 Lin.Ft. @ \$1.65 198.74 Total Paid Balance

SOUTHWICK, W.P. & Florence M. (209-339) Milton Street Improvement, William's Street to East End.

Let 1, in Block 2, in Mitsch Addition to the City of Lebanon. Except: the West 15 feet.

TANNER, E.H. & Flora E. (181-663) Milton Street Improvement, William's Street to East End.

The South 100 feet of Lot 4, in Block 1, in Walnut Park Addition to the City of Lebanon.

Paving 66.00' frontage 88.41 Sq.Yds. @ \$1.485 \$ 131.29 Combined Curb & Gutter 66.00 Lin.Ft. @ \$1.65 108.90 Total \$ 240.19.

(TAYLOR, Beunah A.) SCHLEGEL, (155-475)(199-621) Milton Street Improvement, Williams Street to East end.

Beginning at a point on the North line of and East 34.7 feet from the Northwest corner of Lot 14, Home Addition to the City of Lebanon; and running thence South parallel to the West line of said lot 149.40 feet to a point which is North 95.00 feet from the North line of Berry Street, thence West parallel to Berry Street 174.70 feet to the East right of way line of the S.P.& S. (O.E.) R.R., thence North along said railroad line 149.45 feet to the South line of Milton Street, thence East along said street line 174.85 feet to the place of beginning.

VERNON, Glenn L. & Vivian L. (247-68) Milton Street Improvement.
Williams's Street to East End.

The West 57.98 feet of the East 157.98 feet of the North 120.34 feet of Lot 6, Home Addition to the City of Lebanon.

Paving 57.98' frontage 78.24 Sq.Yds. @ \$1.485 \$ 116.19
Gutter Strip only 57.98 Lin.Ft. @ \$1.045 60.59
Total Paid
Balance

WINKLER, Kenneth L. & Verla H. (234-313) Milton Street Improvement.

Beginning 1196.29 feet East and South 847.39 feet from the Southwest corner of Lot 18, Riverside Addition to the City of Lebanon, thence North 414.86 feet; East 52.50 feet; South 414.86 feet; thence West 52.50 feet to the place of beginning.

Paving 52.50 frontage 70.33 Sq.Yds.@ \$1.485 \$ 104.44 Combined Curb & Gutter 52.50 Lin.Ft. @ \$1.65 86.63 Fotal Paid Balance

Willis, Dale & Deforis 95:70
95:70
Pav. 78.275. 0 \$1.485 \$201.32
211.93 (Taylor) Schlegel, Bernah A.

Prop front. 116.85-116.85 ces 41.65 \$192 80

Par. 157.68 S.Y. @\$1.485 234.16

Tot, Tot,

# IMPROVIMENT PROJECT NO. 10 1956 MILTON STREET William's Street to East End.

Combined Curb & Gutter Gutter Strip Only Pavement Complete 15"

\$ 1.65 per Lin.Ft. 1.045 " " " 1.958 per Sq.Yd. 1.485 " " "

Property Owner	Deed Ref.	Prop. Front.			Paven Sq.Yard	nent ls. Cost	Total Cost
Anderson,	(172-749)	60.00	60.00 \$	99.00	80.37	\$ 119.35	\$ 218.35
Bowman,	(214 - 748)	148.00	148.00	244.20	198.25	294.40	538.60
Childs,	(191-59)	70.00	70.00	115.50	94.46	140.27	255.77
Collins,	(181-471)	105.00	105.00	173.25	140.65	208.87	382.12
Downing,	(166-97)	531.72					
	(Plat Bk.	and the second s	537.95	887.62	712.27	1057.72	1945.34
Edwards,	(242-741)	66.00	66.00	108.90	88.41	131.29	240.19
Firchau,	(229-309)	140.15	140.15	231.25	189.12	280.84	512.09
Gazeley,	(227-647)	212.90	212.90	351.29	287.29	426.63	777.92
Gravella,	(166-337)	50.00	50.00	82.50	67.47	100.19	182.69
Halada,	(155-295)	136.60	136.60	225.39	182.98	271.73	497.12
Haralson,	(169-747)	50.00	50.00	82.50	66.98	99.47	181.97
Hawk,	(231-725) (162-570)	105.00	105.00	82.50	67.47	208.87	182.69
Hilton,	(223-543)	55.00	55.00	90.75	73.68	109.41	200.16
Jacobs,	(197-544)	52.50	52.50	86.63	70.33	104.44	191.07
	(245-662)	105.00	105.00	173.25	140.65	208.87	382.12
Johnson, Klavano,	181-665	66.00	66.00	108.90	88.41	131.29	240.19
Knight,	(202-295)	61.00	61.00	100.65	82.31	122.23	222.88
Lee,	(236-339)	60.00	60.00	99.00	80.37	119.35	218.35
May,	(228-32)	120.00	120.00	198.00	160.75	238.71	436.71
McKinney,	(194-495)	76.00	76.00	125.40	101.81	151.19	276.59
Morris,	(167-591)	106.80	106.80	176.22	144.12	214.02	390.24
Myler,	(183-621)	157.00	57.00	94.05	210.31	312.31	406.36
Nazarene							
Church,	(187-225) (182-673)	90.00	90.00	148.50	121.45	180.35	328.85
Olson,	(222-756)	105,00	105.00	173.25	140.65	208.87	382.12
Peters,	(230 - 272)	100.00 0	.100.00	104.50	134.94	200.39	304.89
Peterson,	(232 - 114)	60.00	60.00	99.00	80.37	119.35	218.35
Robertson,	(208 - 774)	30.00	30.00	49.50	40.48	60.11	109.61
Seems,	(221-153)	81.64	81.64	134.71	109.36	162.40	297.11
Smith,	(244 - 433)	66.00	66.00	108.90	88.41	131.29	240.19
Snyder,	(206 - 295)	120.45	120.45	198.74	161.35	239.60	438.34
Southwick,	(209 - 339)	123.00	123.00	202.95	164.76	244.67	447.62
Tanner,	(181-665)	66.00	66.00	108.90	88.41	131.29	240.19
Taylor,	(155-475)						
	(199-621)	174.85		288.50	235.95	350.39	638.89
Vernon,	(247-68)			60.59	78.24	116.19	176.78
Winkler,	(234-313)		52,50	86.63	70.33	104.44	191.07
Property Ow	mon Motol		3460.34	5709.58			

Property Owner Totals: 3460.34 5709.58 3712.09 3618.32 \$ 5874.67 4983.80 \$ 7400.98 \$13275.65

### IMPROVEMENT PROJECT NO. 10 1956 MILTON STREET From Williams Street to East End.

## DIVISION OF COST

Combined Curb & Gutter @ \$1.65 per Lin.Ft.
Gutter Strip only @ \$1.045 " " "

Pavement complete 15" @ \$1.958 per Sq.Yd.

" 9" @ \$1.485 " " "

Pavement re-coat
Without base @ \$0.99 " " "

Description The Share of	Lin.Ft. Gutter Strip	Comb.C.&		Pavement Sq.Yds.		Total Cost
Undivided Proj.	163.30		170.65	5654.41	11071.33	\$ 569.32 17116.84 \$17686.16
THE PERMIT						

City of Lebanon: Pave.@ \$1.485 5.32	100.18	\$ 165.30		005.86	\$ 1166.72
Prop.dif.pave.@\$0.473			4983.80	2357.34	2357.34
city " " " "			670.61	317.20	317.20

Morse-Downing	Agreem't:			- 36	357.13	\$ 569.32	#	569.32

Prop.Owners		3460.34 \$	5709.58			
	157.98		165.09	4983.80	\$ 7400.98	\$ 13275.65

Project Total: Dif.in fractional round-off	\$ 6045.53	\$11640.70 \$ 17686.23 +.07
		\$ 17686.16

\$ 170.86 670.61 \$ 995.86 \$ 1166.72 City of Lebanon Share:

\$ 2674.54 \$ 2674.54 Santiam Lumber Co.

Section III. That the Recorder of the City of Lebanon be and he is hereby ordered and directed to immediately enter a statement of each assessment made, declared and levied by this Ordinance, together with the names of the respective owners of such lots and tracts of land hereinabove described, in the Docket of City Liens of said City, as provided by the Charter; and to give notice forthwith to the owners of all of said property as to said assessments, as provided by the Charter of said City of Lebanon.

Section IV. That the said City of Lebanon having seriously depleted its funds and this Ordinance therefore being required for the peace, health and safety of said City, anemergency is hereby declared and said Ordinance shall be in full force and effect immediately upon its passage by the Council and approval by the Mayor.

Mayor

ATTEST:

City Recorder